NHARIL A batws = Rdmeitmr nodeluns
'1) ((x,é\ <X+33I H 30(5{(‘ O(}(\B

o\”\m;{xﬂx «1= x E[YIX-%] - M‘l 5

("llx( 1}3 (xv ( .';\ ()HQBI L "‘ja\l ’“(o,ﬂ '}5(0‘1)
£y (X\ SQ“ \d:) x+

E[\”X"]= '}(Xffal “ dl = _/?zh f_l_h_ N .%/e)
)

Rl Bl | Kol Gondi (V329
X A \> . ke (9,4) EMt< o i (\D —_
*x = X. <————1X*‘ "1' .5)(43/1 ém
X 1 E(1- t@NW 2EC- e
%) E('X\”X’)} K <ZX—1 1 BXNI,_) b € el .

A Mt‘m & C(N-EC)

XX\ = X () gn - X)X, 2 >
i ) §~3 Yoy, X*"z[ J "] P o
E Mix (H\X\ -
Ly NIX~NOE X)X Riep) Z, € (Q« DS

) X
%5 € 5 E(Eﬁ‘»X]} E X~ 2.4 - 1

— o 1 [}
¢y €7 - E(‘:’L‘flx])= E 2% = 2§;x*dx, 2'"::‘%

’S .
o) £l L el - 2 _ax WML §3c1,y(x.a\u\3

= W ZX'S, ,5.(1 [
ey

= B a1 ¢ pon ECIX) = E3X 4 aon (20) = 3/y ¢ h(%-(%)l):
= A '1“‘_ _ H,1

3 CGnys 477
Lo(x) - gﬁt':\ixdbz [)i(f:"""". (_g&x;« 1 xe(o1,)
4"“‘("'5\’ Con (3 - ‘.;(1‘°f',,>,o‘118<~57>(§) X~ R (1)
E(MIX=¢) = &  £e(t2) | E(q1x) = X

%€ (?/L), 330

Ly €(v) %(’*—’ Vet d- Lefal s
FARD|
x-1 _ ¢
LLV]LB< )]a 2:1:”', =
x(A+28)= 2 €t
SENCOI R Ux=@ﬁiWQn0
¢y ELY, Lb( ) &
by () T, G Ms L nelo, et} | 4 /
) iy IR AT %L//‘
(s« hay - o B
N . ‘1.\.1‘ -aela,-)
& &(qnx _ Qz_, ] = GHE[\(H] . 134»1 2% E"% XM~ R4, 441)
£y (4 = QﬁIH(*\ T, () l wpdn )
xpy (6y el B i LA E(_XH] SxT (x,,aﬁolxg Ssi“d" LL Bl
g¥xd*

ECULEE S
% » q“'<\1*'ll)‘ﬁa</}y——‘7 L 2



3! I
b) ELMX\‘!}= gn%x-dx=('m*—ﬁa 7 m}- (A.BCB“)

3 N =
S‘) ay € [XMIx) = X+ E (] A EY
| prANAD i
fr, E(xsulX]= X +E (M) \ Py b
I E\‘h‘-= (<x>
<y 3= XM Aot el

Elx127- B[22 ) = 2-E(ve] ¥ 2= £(xr)
E(XI2): ¥ = E[x\xt1]= b

*x

é) MIX~R (leldl)

X~ W)
Lxl | EX - 3N =343 |
a, EL\WJ‘]; Elvn] - @;@;‘ i} Ll_’ SR C SO WA
-2 Xelnd
b, €Y= EC[YIX) - Gﬁzj oA v Ra®) = (oY

¢ aa M= aen (E(NXT) + E(sal1K) = arn ’Q:z_’ L g XY, 31

T

'\-t) (xl\qf; U(Nl M:‘z Oex <y, xc,}”g
Cxq ("p \’ 21,
£l (elqy= 2T In

zldx ?
c\) gL%XP"] 5 58&%_* dx’ %(E*%x)?— £34dx>=
L, E(X’\%V]j W (XM= [Txode sy
;m;'mihuh% 4

o ELLXIGNMTY- Lyt

— !
1—; [N Jz_"\m‘ [\JJ";M;



